m:%@mm._.

~ 2207 Y10

YAt

b il H__.." |

BISWLIG) 14N

EW

ﬁk.duaumﬂvcmm

S20Z - Nmow ﬂ.ﬂlggmw“mou

AR

L $59°10L'E2S

sejuepaoxe sosalbuy

$2°820'0L2°G8L%

p2'820'0LL'68LS

66°252'855'916%

91'v88'688'c51$

£8°€2£'899°29L%

66'150'20LCLS
99°vZ0' Ly vE-8
06°8¢L'€90'ZES
0P’ 705’ L99'ELS
L6'602'892'9-$

£9'E0Z'06E VS
Ly #59'L0L'ECS

66'150'20L'C1$
pe'gze'ove 289%
g'€19'020'cTs
08'€52'125'SL$
2L'129'20e'61$

85'09.'286'C€$
¥2'820'0LL'G8.$

66°150'202CLS
$€'922'0v2'289%
18°€19'020'€Z$
08'€5/'125'G1$
z2'129'70'618

85°09/'286'C€$
¥2'820'022'G8.$

66°150'20L'T1$
ze'zLs'ove'oles
£0'85€'€6E'€TS
1v'982'PL9'GLS
£9'1EV'80E'0CS

56'955'66C V€S
66'.52'855'916$

66°150'20LCH$
26'1ZE'ESS'E0LS
zh'elv'oey'ces
€L/80'VSL'ELS
00°000'€92'7-$
00°000'£02G$
91 ¥88'688'€S1$

00'162'289'90.L$
16'¥88'956$
vE'6Y2'098'LS
€9’ ley'LLS'vES

$6'955'265'82$
£8'€/£'899'29.$

SOJUSILIBIDUBUI 8p SOpeAliaq sosaibu|

ojuaiuweIdUBULY 9P SOpPEALIap sosalbu|

sauoegN[ A SauoIsuad A 'sauoiouaAqng A soipisqng ‘sauoloeUbISY 'Seloudlajsuel ||

sosa1BU| SOJ)Q A SODIAISS Bp UOIDEISAld 'sausig ap ejuaA Jod sosaibu|

sonpold)

[e1oos peplnbas ap ssuoioepode A sejong)

souebi( sof ap ‘leloipnr £ oanjeisiban satapod so| 8p $091|qnd sejul soj ap sosalbuj
SAUOISBJIGN( A SIUOISUS A 'SBUOISUBAGNS A SOIPISqNS ‘s8uOIoBUBISY 'SeIoUBIjSUEl

£ 1BOSI UQIOBIOQEIOD) B| 9P SOPBALIB( SOANUSdU| 'SOIUBAUCD ‘sguooepody 'sauisediied)
sojualLeyoasd

solNpold

soyoala(

selolayy ap sauULIENAUIUOD)|

|e100s pepunBas ap sauoioeuode A sejong)

sojsandw|

soidisiunpy so| ap A [e3eis3 O [eJepad 0ANodI3 Japod |9p sosasbuj

L 59'L01'eT$

sajuapacxa sosaibul|

(b-5=9) (s) 2] Z+lL=%) (2) (1)
Bloualajg opepnesay opebuaaag opealIpoi A sauoidelduy opewns3
osedbu|

oju3lWelduBUI4 8p 8jUand 104 Sosaibu) ap 0d1)|eUY OpPEIS]

$2'820'0LL°68L$

vZ8Z0°0LL°58L8

66°252°855'916%

91'v88688'¢51$

£8'€L£'899'29.%

felol

66'150'20L'CL$
99'v20' LYY 've-$

06'82.'€90'CC$
or'v0S'199'€L$
16'608'892'S-$

me.mow_omm_vw

66'150'202'CL$
v£'922'0¥Z'289%
18'¢19'020'cT$
08'€5.'125'SL$
2.129'20e'61L$

667150'20L'C1$
y£'922'0vZ'289%
18°€19'020'cZ$
08°€52'125'S51L$
Z.129'20€'61$

66150'20LC1$
z6'2L5'0v2'0188
£0'8GE'€6€'€C$
Ly'982'719'GL$
£9'L€¥'80€'0Z$

66'150'20L'CL$
26'12€'e5S'€0LS

ZLelv'oey'ees
€L LE0'YSL'ELS
00°000'€92'¥-$

00°'152'289'90.$
16'788'956%
PE6YZ'098'1S
€9'1EV' 1L VTS

ojualweIsueUL AP SopeAllag sosaibul

sauode|Ignr A sauoisuad A ‘sauoiousaqng A solpisqng ‘seuoloeubisy ‘selousiajsuel

UQIJBIOGR|O B| 9 SOPBALIS SOAIUSIU] ‘SOIUBAUOY ‘seuoloepody ‘sauoivedidiued

sosaiBu| so13Q A SOIDIAIRG ap UOIJRISAId ‘Saualg ap BIUSA Jod sosalbu|
sojualweyssnold

s0}onpold

soydalag

selofaly ap sauoloNquUIUO)

|e1dos pepunbas ap sauolseuode A sejond

‘epueded ap oidioiunpy

85°09.'286'2€$ 96°09.'286'2€$ G6'955'662'7€$ 00'000'20.'S$ 66'955'265'82$ sojsandw|
(b-5=9) (s) () +1=¢) (@ 1)
eloualajia opepnesay opebuaaaqg opeayipon A sauoiseldwy opewnsy sosalbu| ap oigny
osaibu)|
20z ap aiquandas ap Q¢ |e 018ud 9p | |3p I AVINDIS
sosaibuj| ap oo1jljeuy opejs3
“Jop T




